12.5

12.5

4-M3x0.8

" |
N i Fixing Hole
“ ‘
\ -
. -
\\\\\\ ‘ //’//
— e
© ©
(0440)

© (©)

6-M6x1.0
Fixing Hole

/5

3.2

4-Socket Head Cap Screws M8x12
(for Fixing)

4=Jack Bolt M12x30
(for Height adjustment)

200

DERESE

GB1

=

e

= TEf (i
il bl

—

Control connector

ACTOQOV
Power cord hole

@ .
el e
250 160

Control Panel

>Description
IRT—=M Type Compact Turn Table
IRT—=400M Type

Unit = mm

>Specification

Power source = Single—phase /AC100V

Motor = 0.015kW
Rotational frequency = 0.5~8rpm

Control cord length = 5m(Turn Table ~ Control Panel)

Power cord length = 5m(for Control Panek). Type—A Plug

weight = 12.0kg
Movable load = 50kgf

Table = Steel




